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Seat No. ___________                                    Enrolment No.: _____________ 

Gujarat Technological University 
Diploma Engineering C to D Bridge Course Examination 

Subject Code: 3300005 Date:  21/12/2013 
Subject Name: BASIC PHYSICS 
Time: 1 Hour and 30 Minutes Total Marks: 70 
Instructions: 

1. Attempt all questions. 
2. Make suitable assumption wherever necessary. 
3. Each question is of 1 mark. 
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 
5. English version is authentic. 

No. Question Text and Option 

1. 
How many significant figures are there in 0.003602 ? 
A. 6 B. 4
C. 3 D. 2

2. 
Which of the following physical quantity is derived physical quantity? 
A. Joule B. Ampere 
C. Candela  D. Second  

3. 
What is the unit of power? 
A. Newton  B. Joule 
C. Watt D. Pascal 

4. 

What is the least count of a micrometer screw having 1 mm pitch and 100 divisions on its 
circular scale? 
A. 1 x 10-6 m B. 1 x 10-5 m 
C. 1 x 10-3 m D. 1 x 10-4 m 

5. 
“Kelvin” is the unit of which of the following physical quantity? 
A. Velocity B. Temperature  
C. Momentum D. Length  

6. 
1 Joule is equal to how many ergs? 
A. 10-7 B. 10-6

C. 10-3 D. 10-5 

7. 
Which of the following instrument is used to measure internal diameter of a hollow cylinder? 
A. Spherometer  B. Micrometer screw 
C. Vernier capllipers  D. Physical balance 

8. 
Accuracy of measurement depends upon………. 
A. Temperature  B. Least count of the instrument  
C. Maximum measurement D. None of these 

9. 
Micrometer screw is used to measure which of the following? 
A. Thickness of metallic sheet B. Water level in 50ml beaker 
C. Height of a hall  D. Width of the bench  

10. 
Which of the following is a fundamental physical quantity? 
A. Joule  B. Candela  
C. Newton D. Watt  

11. 
If the distance between two charges is doubled, the force between them ……….  
A.  Becomes one fourth B. Becomes double 
C. Becomes half D.  Becomes four times 

12. 

Four resistances of the same value are connected in parallel to each other. The resultant 
resistance will be .................of one of the resistance.  
A. Four times B. one fourth 
C. Half D. Double 

13. 

Resistance of metal is..............  
A. Independent of temperature B. Decreases with increase in temperature 
C. Increases with increase in 

temperature 
D. Sometimes increases with temperature and 

sometimes decreases 
14. Electric field lines are..........  
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A. Imaginary B. Universal 
C. Exists near electric charge D. Exists only when positive and negative 

charges are mutually near to each other 

15. 
S. I. unit of intensity of electric field is ………. 
A. C/m B. A/m 
C. C/m2 D. N/C 

16. 
Inverse of resistance is called..........  
A. Potential B. Specific resistance 
C. Conductance D. Voltage 

17. 
Kirchoff’s first law follows conservation of ..........  
A. Electric charge B. Energy 
C. Force D. None of above 

18. 

Electrical voltage is a measure of..........  

A. total amount of current. B. how much current is moving through a 
circuit. 

C. the ratio of work done moving 
electric charges. 

D. how many electrons are moving through a 
wire. 

19. 

Which of the following is a description of electrical current?  
A. The flow of electric charge through a 

material. 
B. The electric potential between two points 

in a circuit. 
C. The flow of protons through a 

material. 
D. The movement of resistance. 

20. 

Ohm's law states which relationship between electrical quantities?  
A. volts = current divided by amps B. volts = current times resistance 
C. volts = resistance times charge D. volts = coulombs divided by charge 

21. 

Which of the following will have power units?  
 
A.  volts x amps  B. volts x ohms 
C. volts x coulombs D. volts x watts 

22. 

The unit of current is _____________.  

A. ampere B. Watt 
C. Volt D. Coulomb 

23. 

Three resistors 2 Ω, 3 Ω and 4 Ω are connected so that the equivalent resistance is 9 Ω . The 
resistors are connected _________.  
A. all in series B. all in parallel 
C. 2 Ω and 3 Ω in parallel and the 

combination in series with 4 Ω 
D. 2 Ω and 3 Ω in series and the combination in 

parallel to 4 Ω 

24. 
Kilowatt - hour is the unit of ______________.  
A. potential difference B. electric power 
C. electrical energy D. Charge 

25. 
Joule / Coulomb is same as ______________.  
A. Watt B. Volt 
C. Ampere D. ohm 

26. 
The resistivity of a wire depends on ____.  
A. Length B. material 
C. area of cross- section D. length, material and area of cross- section 

27. 

Static electricity occurs when.......... 
A. two metals are connected to a 

battery 
B. different insulators are rubbed together 

 
C. the weather is very humid D. None of above 

28. 
The type of current produced by batteries is..........  
A. alternating current B. short circuit 
C. direct current D. None of above 

29. 
Ohm's law is not applicable to ……….  
A. DC circuits B. high currents 
C. small resistors D. semi-conductors 
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30. 

A metallic object is given a net positive charge by induction. What is the change in the mass of 
the object?   
A. Increases B. Decreases 
C. Remains unchanged  D. It cannot be determined. 

31. 
Basic source of magnetism ______________.  
A.  Charged particles alone B. Movement of charged particles 
C. Magnetic dipoles D.  Magnetic domains 

32. 
Example for dia-magnetic materials..........  
A. super conductors B. alkali metals 
C. transition metals D. Ferrites 

33. 
The practical illustration of the phenomenon of mutual induction is..........  
A. A.C generator B. D.C dynamo 
C. induction coil D. transformer 

34. 
Weber is the unit of..........  
A. Magnetic field intensity B. magnetic induction 
C. magnetic flux D. self-inductance 

35. 
Relative permeability of diamagnetic substances is ……….  
A. Zero B. More than one 
C. One D. Less than one 

36. 
No force acts upon ………. in magnetic field.  
A. Magnet B. Charge in motion 
C. Steady charge D. Current carrying conductor 

37. 

Magnetic lines of force……….  
A. Will intersect at a point B. Will not intersect eachother 
C. Will intersect near north and 

south pole 
D. Depends upon position of magnet 

38. 
Which of the following is a ferromagnetic substance?  
A. Silver B. Alnico 
C. Marble D. Antimony

39. 
Value of susceptibility is positive and large for ………. substances. 
A. Paramagnetic B. Non-magnetic 
C. Diamagnetic D. Ferromagnetic 

40. 
Susceptibility of which of the following substances is independent of temperature?  
A. Diamagnetic B. Ferrite 
C. Paramagnetic D. Ferromagnetic 

41. 
When does the conductivity of Ge semiconductor decrease?  
A. By adding donner impurities B. By adding accepter impurities 
C. By imparting UV light on it D. Decreasing temperature 

42. 

In which type of semiconductor electron number density (ne) and hole number density (nh ) are 
same?  
A. N-type of semiconductor B. P-type of semiconductor 
C. Intrinsic semiconductor D. Extrinsic semiconductor 

43. 
For a conductor, band gap energy Eg = ………. 
A.  3 eV B. 0 
C. 1 eV D. 0.7 eV

44. 

By adding which type of impurities in extrinsic semiconductor, N-type of semiconductor can 
be prepared?  
A. Iodine B. Indium 
C. Arsenic D. Aluminium 

45. 
P-type of semiconductor ……….  
A. is positively charged B. is negatively charged 
C. is neutral D. becomes positively charged at room temperature 

46. 
At 0 K , intrinsic semiconductor……….  
A. Behaves as an insulator B. Behaves as a conductor
C. Behaves as a superconductor D. Behaves as a semiconductor 

47. 

By increasing reverse bias of P-N junction ………. 
A. Barrier potential increases  B. Barrier potential decreases 
C. Minority charge carrier 

increases 
D. Majority charge carrier increases 
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48. 
In forward bias condition, resistance of P-N junction is ……….  
A. Zero B. less 
C. more D. infinity 

49. 
Which type of impurities in to be added to make P-type of semiconductor? 
A. As B. P 
C. Al D. Bi 

50. 

Current flows through a circuit when a semiconductor device is connected in series. By 
reversing the polarity, current doesn’t flow through it. What can be the semiconductor device?  
A. P-N junction diode B. P-type of semiconductor 
C. N-type of semiconductor D. Intrinsic semiconductor 

51. 

While applying reverse bias to P-N junction diode, width of depletion layer near the junction 
……….  
A. Doesn’t change B. Changes frequently 
C. Increases D. Decreases 

52. 
Sound waves are ……….type of waves.  
A. Non-mechanical B. Longitudinal 
C. Transverse D. Stationary 

53. 

During wave motion, the maximum displacement of a particle from its mean position in either 
of the direction is known as ………. 
A. Wavelength B. Amplitude 
C. Frequency D. Phase 

54. 
Electrical conductivity of a semiconductor at absolute zero temperature is ………. 
A. Limited B. very high
C. Zero D. Very less

55. 
The maxium energy that electron possess at absolute zero temperature is called………. 
A. Fermi energy B. De-Broglie energy
C. Band gap energy D. None of above

56. 
Electrical conductivity of semiconductor lies between ………. and dielectric substance. 
A. Plastic B. Metal
C. Ceramics D. None of above

57. 
In semiconductors, free electrons and ……….both take part in electrical conduction. 
A. Holes

 
B. Positive ions

C. Negative ions
 

D. None of above

58. 
In optical fibres, ray of light passes through..........phenomenon.  
A. Interference of waves B. Diffraction of waves 
C. Polarization of waves D. Total internal reflection of waves 

59. 
Periodic time of a wave having 10 Hz frequency is ………. 
A. 10 second B. 1 second   
C. 0.1 second   D. 0.01 second 

60. 
When angle of incidence becomes..........critical angle, total internal reflection occurs.  
A. More than B. Less than 
C. Equal to D. A and B both 

61. 
……….is Snell’s law.  
A.  µ =  sin i/sin r = constant B. µ =  sin r/sin i = constant 
C. µ =  sin i + sin r = constant D.  µ =  sin i x sin r = constant 

62. 
Optical fibres are made of ..........substance.  
A. Semiconductors B. Metal
C. Conductors D. Dielectrics 

63. 

Two waves emerged from coherent source when meets at a point, the resultant amplitude 
becomes different than the original waves. This phenomenon is known as………. 
A. Interference B. Diffraction 
C. Polarisation D. Dispersion 

64. 
The phenomenon of change of velocity of slant ray of light when enters from one medium to 
another medium is known as………. 
A. Reflection B. Refraction 
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C. Dispersion D. Total internal reflection 

65. 
Through which phenomenon of light, light is divided into its seven component colours?  
A. Refraction B. Reflection 
C. Dispersion D. Interference 

66. 
10 nano meter = ……….meter  
A.  10-8 B. 10-7 
C. 10-9 D. 10-10 

67. 

Nano materials are used in………. 
A. Micro electronics, Machine 

tools and high power magnets 
B. monitors, television, engine cylinders and aero 

gels 
C. Textiles, computers and 

medical field 
D. All of above 

68. 
LASER radiation is ……….  
A. Highly directional B. Monochromatic 
C. coherent and stimulated D. all of above 

69. 

An atom remains in the excited state for .......... 
A. 108 s B. 10-8 s
C. 10-3 s D. 10-5 s 

70. 
Tubelight, electric bulb, flame of a candle all are examples of ..........emission of light.  
A. Stimulated B. Spontaneous 
C. Absorption D. A and B both 

 
************** 

Ȥજુરાતી 

ન.ં ̆ĕ તેમજ િવકƣપ 

1. 

0.003602 મા ંસાથ½ક Ӕકોની સƉંયા ક°ટલી છે? 

A.  6 B. 4 

C. 3 D.  2 

2. 

નીચેનામાથંી કઈ ભૌિતક રાશી સાિધત ભૌિતક રાિશ છે? 

A.  ȩુલ  B. એ�Ơપયર 

C. ક°ƛડ°લા D.  સેકƛડ  

3. 

પાવરનો એકમ Ƀુ ંછે? 

A.  ƛȻટુન  B. ȩુલ  

C. વોટ  D. પાƨકલ  

4. 

1 મી મી પેચ અને વȱુ½ળાકાર ƨક°લ પર 100 કાપા ધરાવતા માઈ˲ોમીટર ƨĴની લȥĂુમ 

માપશ�ƈત ક°ટલી થાય? 

A. 1 x 10-6 m B. 1 x 10-5 m 

C. 1 x 10-3 m D. 1 x 10-4 m 

5. 

ક°ƣવીન નીચેનામાથંી કઈ ભૌિતક રાિશનો એકમ છે? 

A.  વેગ  B. તાપમાન  

C. વેગમાન  D.  લબંાઈ  

6. 

1 ȩુલ  ક°ટલા અગ½ Ȑટલા થાય? 

A. 10-7 B. 10-6 

C. 10-3 D. 10-5 

7. નીચેનામાથંી ɉ ુસાધન પોલા નળાકારનો Ӕદરનો ƥયાસ માપવા માટ° વપરાય છે? 



      6/11 

A.  ƨફ°રોમીટર  B. માઈ˲ોમીટર ƨĴ  

C. વન�યર ક°લીપસ½  D.  ભૌિતક ȱલુા  

8. 

માપનની સચોટતા _________ પર આધાર રાખે છે  

A.  તાપમાન પર  B. સાધનના લȥĂુમ માપ 

C. સાધન વડ° મપાતા મહĂમ માપ  D.  આમાથંી કોઈ પર ન�હ  

9. 

નીચેનામાથંી Ƀુ ંમાપવા માટ° માઈ˲ોમીટર ƨĴનો ઉપયોગ થાય છે? 

A.  ધાȱનુા પતરાનંી Ĥડાઈ માપવા  B. 50 મીલી બીકરમા ંપાણીȵુ ંલેવલ માપવા  

C. ઓરડાની әચાઈ માપવા  D.  બҪચની પહોળાઈ માપવા  

10. 

નીચેનામાથંી કઈ Ⱥળૂȹતૂ ભૌિતક રાિશ છે? 

A.  ȩુલ  B. ક°ƛડ°લા  

C. ƛȻટુન  D.  વોટ  

11. 

જો બે િવજભારો વƍચેȵુ ંӔતર બમȰુ ંકરવામા ંઆવે તો તેમની વƍચેȵુ ંબળ..........  

A. ચોથા ભાગȵુ ંથાય.  B. બે ગȰુ ંથાય. 

C. અȴુ½ થાય. D. ચાર ગȰુ ંથાય. 

12. 

સરખી �કમતના ચાર અવરોધો સમાતંરમા ંજોડતા પ�રણામી અવરોધ એક અવરોધȵુ ં

..........થાય. 

A. ચાર ગણો  B. ચોથા ભાગનો  

C. અધҴ  D. બમણો  

13. 

ધાȱ ુપદાથ½નો અવરોધ ..........  

A. તાપમાન પર આધા�રત નથી. B. તાપમાન વધતા ઘટ° છે.  

C. તાપમાન વધતા વધે છે. D. તાપમાનની સાથે ðાર°ક વધ,ે ðાર°ક ઘટ° 

છે. 

14. 

વીજëે́ર°ખાઓ ..........  

A. કાƣપિનક છે.  B. સવ½́ હોય છે.  

C. િવજભારની નĥકમા ંઅ�ƨતƗવ 

ધરાવે છે.  

D. જયાર° ધન અને ઋણ વીજભારો પરƨપર 

નĥક હોય Ɨયાર° જ અ�ƨતƗવ ધરાવે છે.  

15. 

વીજëે́ની તી̑તાનો S.I. એકમ ………. છે. S. I. unit of intensity of electric field is ………. 

A. C/m B. A/m 

C. C/m2 D. N/C 

16. 

અવરોધના ƥયƨતન ે..........કહ° છે.  

A. વીજ�ƨથિતમાન  B. િવિશƧટ અવરોધ  

C. કƛડƈટƛસ  D. વોƣટ°જ  

17. 

�કચҴફનો ̆થમ િનયમ ..........ના સરંëણȵુ ંપાલન કર° છે.  

A. વીજભાર B. ઉĤ½  

C. બળ  D. એક પણ નહ�  

18. 

િવɎતુીય વોƣટ°જ ..........ȵુ ંમાપ છે.  

A. Ȣુલ વીજ̆વાહ B. વીજપર�પથમા ંક°ટલો ̆વાહ વહ° છે 

C. ગિતમા ંરહ°લા િવજભાર° કર°લા D. વાયરમા ંક°ટલા ઇલેƈ˼ોન ગિત કર° છે 
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કાય½નો ȤણુોĂર 

19. 

નીચેનામાȵં ુɉ ુિવજ̆વાહȵુ ંવણ½ન કર° છે?  

A. પદાથ½માથંી પસાર થતો વીજભાર B. વીજપર�પથમા ંબે �બ�ȳુઓ વƍચેȵુ ં

વીજ�ƨથિતમાનં 

C. પદાથ½માથંી વહન થતા ̆ોટોન  D. અવરોધȵુ ંવહન 

20. 

નીચેમાની કઈ િવɎતુીય રાશીઓ વƍચેનો સબંધં ઓહમનો િનયમ Ʌચૂવે છે?  

A. વોƣટસ = ̆વાહ/એƠપીયર B. વોƣટસ = ̆વાહ x અવરોધ 

C. વોƣટસ =  અવરોધ x વીજભાર D. વોƣટસ = Ȣુલબં/વીજભાર   

21. 

નીચેનામાથંી કયો પાવરનો એકમ છે? 

A. વોƣͫસ  x એƠપીયર B. વોƣͫસ x ઓહƠસ 

C. વોƣͫસ x ȢુલƠƞસ D. વોƣͫસ x વોͫસ 

22. 

િવજ̆વાહનો એકમ ..........છે.  

A. એƠપીયર B. વોટ 

C. વોƣટ D. Ȣુલબં 

23. 

́ણ અવરોધો 2 Ω, 3 Ω અને  4 Ω એવી ર�તે જોડ°લા છે ક° Ȑથી તેમનો સમȱƣુય અવરોધ 9 

Ω થાય છે. આ અવરોધો..........  

A. બધા જ ̒ેણીમા ંજોડ°લા છે. B. બધા જ સમાƛતરમા ંજોડ°લા છે. 

C. 2 Ω અને 3 Ω સમાƛતરમા ંઅને 

બનેં ȵુ ંજોડાણ 4 Ω સાથે ̒ેણીમા ં

જોડ°લ છે. 

D. 2 Ω અને 3 Ω ̒ેણીમા ંઅને બનેં ȵુ ંજોડાણ 

4 Ω સાથે સમાƛતરમા ંજોડ°લ છે. 

24. 

�કલોવોટ-કલાક ..........નો એકમ છે. 

A. વીજ�ƨથિતમાન B. િવɎતુીય પાવર 

C. િવɎતુ ઉĤ½ D. વીજભાર 

25. 

ȩુલ/Ȣુલબં ..........ને સમાન છે.  

A. વોટ B. વોƣટ 

C. એƠપીયર D. ઓહમ 

26. 

વાહકતારની અવરોધકતા ..........પર આધાર રાખે છે.  

A. લબંાઈ B. પદાથ½ 

C. ëે́ફળ D. લબંાઈ પદાથ½ અને ëે́ફળ 

27. 

�ƨથત વીજ̆વાહ ઉદભવે છે જયાર° ..........  

A. બે ધાȱઓુને બેટર� સાથે જોડવામા ં

આવે છે Ɨયાર°. 

B. ȩુદા ȩુદા અવાહકોને એકબીĤ સાથે 

ઘસવામા ંઆવે છે Ɨયાર°. 

C. વાતાવરણમા ંભેજ હોય. D. Ɨયાર° ઉપરમાથંી કઈ પણ નહӄ. 

28. 

બેટર�માથંી ઉƗપđ થતો વીજ̆વાહ ..........̆કારનો હોય છે.  

A. ઓƣટરનેટӄગ( ઉલટɅલુટ ) 

િવજ̆વાહ 

B. શોટ½ સ�ક�ટ 

C. ડાયર°ƈટ વીજ̆વાહ D. ઉપરમાથંી કોઈ પણ નહ�  

29. ઓહમનો િનયમ ..........ને લાȤ ુપડતો નથી.  
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A. DC િવજપર�પથ B. િવજ̆વાહની ઉƍચ �ક�મત 

C. નાના અવરોધ D. અધ½વાહકો 

30. 

એક ધાȱનુા પદાથ½ને ̆ેરણ Ďારા ચોƉખો ધન વીજભાર આપવામા ંઆવે છે. પદાથ½ના 

̃ƥયમાનમા ંɃુ ંફ°રફાર થશ?ે  

A. વધે છે. B. ઘટ° છે. 

C. બદલાȱ ુ ંનથી. D. નï� કર� શકાય નહ�. 

31. 

ȧƠુબકતાનો ȺƉુય Ęોત ..........  

A. ફƈત વીજભા�રત કણો B. વીજભા�રત કણોȵુ ંવહન 

C. ȧુબંક�ય ડાયપોલ D. ȧુબંક�ય ડોમેઈƛસ 

32. 

.......... ડાયામેƊને�ટક પદાથ½ȵ ુ ંઉદાહરણ છે.  

A. અિતવાહકો B. આƣકલી ધાȱઓુ 

C. ˼ાƛઝીશન D. ફ°રાઇટસ 

33. 

..........પરƨપર ̆ેરણȵુ ંƥયવહાȿુ ઉદાહરણ છે.  

A. A.C. જનર°ટર B. D.C. ડાયનેમો 

C. ̆ેરક Ȥ ૂચંįં D. ˼ાƛસફોમ½ર 

34. 

વેબર .......... નો એકમ છે.  

A. ȧુબંક�ય ëે́ની તી̑તા B. ȧુબંક�ય ̆ેરણ 

C. ȧુબંક�ય Ɲલë D. ƨવ̆ેરણ 

35. 

ડાયામƊેને�ટક પદાથ½ની સાપેë પરમીએબીલીટ� ..........છે.  

A. Ƀƛૂય  B. એકથી વȴ ુ 

C. એક  D. એકથી ઓછ�  

36. 

..........પર ȧુબંક�ય ëે́મા ંબળ લાગȱ ુ ંનથી.  

A. ȧƠુબક  B. ગિતમાન વીજભાર  

C. �ƨથર વીજભાર  D. ̆વાહધા�રત વાહક  

37. 

ȧુબંક�ય બળર°ખાઓ..........  

A. એક �બ�ȳુએ છેદશે. B. પરƨપર છેદશે નહ�   

C. ઉĂર અને દ�ëણ ʞવુ આગળ 

છેદશે. 

D. ȧુબંકના ƨથાન પર આધાર રાખે છે. 

38. 

નીચેનામાથંી કયો ફ°રોમેƊનેટ�ક પદાથ½ છે?  

A. ચાદં�  B. એƣનીકો  

C. આરસ  D. એƛટ�મની  

39. 

સસેƜટ�બીલીટ�ની �ક�મત .......... પદાથҴ માટ° ધન અને ȣબુ મોટ� હોય છે.  

A. પેરામેƊને�ટક  B. અȧƠુબક�ય  

C. ડાયામƊેને�ટક D. ફ°રોમેƊને�ટક 

40. 

નીચેનામાથંી ðા પદાથҴની સસેƜટ�બીલીટ� તાપમાન પર આધાર રાખતી નથી? 

A. ડાયામƊેને�ટક B. ફ°રાઈટ  

C. પેરામેƊને�ટક D. ફ°રોમેƊને�ટક 

41. Ge અધ½વાહકની વાહકતા ðાર° ઘટ°?  
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A. તેમા ંડોનર અɃ�ુć ઉમેરતા  B. તેમા ંએસેƜટર અɃ�ુć ઉમેરતા  

C. તેના પર UV ̆કાશ આપાત કરતા D. તાપમાનમા ંઘટાડો કરતા  

42. 

ðા ̆કારના અધ½વાહકમા ંઇલેƈ˼ોન સƉંયા-ઘનતા (ne) અને હોલ સƉંયા-ઘનતા  ) nh ) 

સમાન હોય છે? 

A. N- ̆કારનો અધ½વાહક B. P-̆કારનો અધ½વાહક 

C. Ӕતગ½ત અધ½વાહક D. બ�હગ½ત અધ½વાહક 

43. 

વાહક પદાથ½ માટ° બેƛડગેપ એનજ� Eg = ……….  

A.  3 eV B. 0 

C. 1 eV D. 0.7 Ev 

44. 

Ӕતગ½ત અધ½વાહકમા ંકઈ અɃ�ુć ઉમેરવાથી N-̆કારનો અધ½વાહક બનાવી શકાય?   

A. આયોડ�ન B. ઈƛડ�યમ 

C. આસ±નીક D. એƣȻિુમિનયમ  

45. 

P- ̆કારનો અધ½વાહક ..........  

A. ધન વીજભા�રત હોય છે  B. ઋણ વીજભા�રત હોય છે 

C. િવɎતુની ̃�Ƨટએ તટƨથ છે D. ઓરડાના તાપમાને ધન િવɎતુભા�રત બન ે

છે 

46. 

0 K તાપમાને, Ӕતગ½ત  અધ½વાહક ..........  

A. અવાહક પદાથ½ તર�ક° વત± છે. B. વાહક પદાથ½ તર�ક° વત± છે. 

C. Ʌપુરકƛડƈટર તર�ક° વત± છે. D. અધ½વાહક તર�ક° વત± છે. 

47. 

P-N જકંશનȵુ ંર�વસ½ બાયસ વધારતા..........  

A. બે�રયર પોટ°ƛશીયલ વધે છે. B. બે�રયર પોટ°ƛશીયલ ઘટ° છે. 

C. માઈનોર�ટ� ચાȒ ક°ર�યરમા ં

વધારો થાય છે. 

D. મેજોર�ટ� ચાȒ ક°ર�યરમા ંવધારો થાય છે. 

48. 

ફોરવડ½ બાયસ �ƨથિતમા ંP—N જકંશન ડાયોડનો અવરોધ ..........હોય છે.  

A. Ƀƛૂય B. ઓછો 

C. વધાર° D. અનતં 

49. 

P- ̆કારનો અધ½વાહક બનાવવા માટ° કઈ અɃ�ુć ઉમેરવી જોઈએ?  

A. As B. P 

C. Al D. Bi 

50. 

એક અધ½વાહક રચનાને બેટર� સાથે ̒ેણીમા ંજોડતા તેમાથંી ̆વાહ વહ° છે. હવે બેટર�ના ʞવુો 

ઉલટાવતા તેમાથંી ̆વાહ વહ°તો નથી. આ અધ½વાહકની રચના કઈ હશે?  

A. P-N જકંશન ડાયોડ  B. P-̆કારનો અધ½વાહક 

C. N- ̆કારનો અધ½વાહક D. Ӕતગ½ત અધ½વાહક 

51. 

P-N જકંશન ડાયોડને ર�વસ½ બાયસ આપતા જકંશન પાસેના ડ°Ɯલેશન િવƨતારની પહોળાઈ 

………  

A. બદલાતી નથી. B. વારંવાર બદલાય છે . 

C. વધે છે. D. ઘટ° છે. 

52. ƚવિનના તરંગો ..............̆કારના તરંગો છે.  



      10/11 

A.  �બન યાિં́ક  B. સગંત  

C. લબંગત  D.  �ƨથત  

53. 

તરંગગિત દરƠયાન માƚયમના કણે તેના મƚયમાન ƨથાનથી ગમે તે એક �દશામા ંકર°લા મહĂમ 

ƨથાનાતંરને ..............કહ° છે.  

A.  તરંગલબંાઈ  B. કંપિવƨતાર  

C. આɂિૃĂ  D.  કલા  

54. 

િનરપેë Ƀƛૂય તાપમાન પર સેિમકંડƈટરની િવɎતુ વાહકતા ..........હોય છે.  

A. સીિમત
 

B. ȣબુ વધાર°

C. Ƀƛૂય
 

D. ȣબુ ઓછ�

55. 

િનરપેë Ƀƛૂય તાપમાને ઇલેƈ˼ોન Ȑ  મહĂમ ઉĤ½ ધરાવે તેને……….કહ° છે. 

A. ફમ� ઉĤ½
 

B. ડ� ̈ોƊલી ઉĤ½

C. બેƛડ ગેપ ઉĤ½
 

D. ઉપરના એક પણ ન�હ. 

56. 

સેમીકƛડƈટસ½ની િવɎતુીય વાહકતા ................અને ડાયઇલે�ƈ˼કની વƍચે હોય છે.  

A. Ɯલા�ƨટક
 

B. ધાȱ ુ

C. િસરાિમƈસ
 

D. ઉપરના એક પણ ન�હ. 

57. 

સેિમકંડƈટસ½મા ંȺƈુત ઇલેƈ˼ોƛસ અને.................બનેં િવɎતુીય વહનમા ંભાગ લે છે.  

A. હોƣસ
 

B. ધન આયƛસ

C. ઋણ આયƛસ
 

D. ઉપરના એક પણ ન�હ. 

58. 

ઓ�Ɯટકલ ફાઈબરમા ં̆કાશȵુ ં�કરણ............... ઘટના Ďારા વહન પામે છે.  

A. તરંગોના ƥયિતકરણ B. તરંગોના િવવત½ન 

C. તરંગોના ʞવુીભવન D. તરંગોના ȶણૂ½ ӕત�રક પરાવત½ન 

59. 

10 હટ½ઝ આɂિૃĂ ધરાવતા તરંગનો આવત½કાળ..............હોય.  

A.  10 સેકƛડ B. 1 સેકƛડ 

C. 0.1 સેકƛડ D.  0.01 સેકƛડ 

60. 

જયાર° આપાતકોણ, ˲ાિંતકોણ ........................થાય Ɨયાર° ȶણૂ½ ӕત�રક પરાવત½નની ઘટના 

બને છે. 

A. કરતા વધાર° B. કરતા ઓછો 

C. Ȑટલો D. a અને b બનેં 

61. 

ƨનલેનો િનયમ ..................છે.  ........................is Snell’s law.  

A.  μ =  sin i/sin r = અચળ B. μ =  sin r/sin i = અચળ 

C. μ =  sin i + sin r = અચળ D.  μ =  sin i x sin r = અચળ 

62. 

ઓƜટ�કલ ફાઈબર .....................પદાથ½ના બનેલા હોય છે. 

A. સેિમકંડƈટસ½ B. ધાȱ ુ  

C. વાહકો D. ડાઈઇલેƈ˼�ƈસ 
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63. 

̆કાશના Ʌસુબƚધ ઉદગમƨથાન માથંી ઉƗપđ થયેલા તરંગો જયાર° એક �બ�ȳુએ મળે Ɨયાર° 

પ�રણામી તરંગનો કંપ િવƨતાર Ⱥળૂ તરંગ કરતા ȩુદો બને છે. આ ઘટનાને ……….કહ° છે.  

A.  ƥયિતકરણ B. િવવત½ન 

C. ʞવુીભવન D.  િવભાજન 

64. 

એક માƚયમમાથંી બીĤ માƚયમમા ંદાખલ થતા ̆કાશના ́ાસંા �કરણની ગિતની �દશા 

બદલવાની ઘટનાને Ƀુ ંકહ° છે?  

A.  પરાવત½ન  B. વ˲�ભવન  

C. િવભાજન  D.  ȶણૂ½ ӕત�રક પરાવત½ન  

65. 

̆કાશની કઈ ઘટના Ďારા Ėેત ̆કાશȵુ ંસાત ઘટક રંગોમા ંિવભાજન થાય છે?  

A.  વ˲�ભવન  B. પરાવત½ન 

C. િવભાજન D.  ƥયિતકરણ  

66. 

10 નેનોમીટર = _________ મીટર 

A.  10-8 B. 10-7 

C. 10-9 D.  10-10  

67. 

નેનો પદાથ½નો ઉપયોગ ____________ મા ંથાય છે.  

A.  માઈ˲ો ઇલેƈ˼ોિનƈસ, મશીન Ȭƣૂસ 

અને હાઈ પાવર મેƊનેͫસ   

B. મોનીટસ½, ટ°લીિવઝન, એƛĥન િસલીƛડસ½ 

અને એરોȐƣસ  

C. ટ°ëટાઈƣસ, કોƠƜȻટુસ½ અને મેડ�કલ 

ëે́ો  

D.  ઉપરના બધા જ  

68. 

લેસર ર°ડ�એશન……………………છે. 

A. ȣબુ એક દ�શીય B. એકરંગી 

C. કોહરંટ અને ƨટ�ƠȻલેુટ°ડ D. ઉપરમાનંા બધા જ. 

69. 

ઉĂે�જત અવƨથામા ંપરમાȰ ુ...................સમય Ʌધુી રહ° છે. 

A. 108 s B. 10-8 s 

C. 10-3 s D. 10-5 s 

70. 

 ટȽબુલાઈટ , ઇલે�ƈ˼ક બƣબ, મીણબĂીની Ԍયોત વગેર° ̆કાશના .....................ઉƗસȒન 

(એમીશન) ના ઉદાહરણો છે.  

A. ƨટ�ƠȻલેુટ°ડ B. ƨપોƛટ°િનયસ 

C. એƞસોƜશ½ન D. a તથા b બનેં 

 

************** 

 
 


